






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120











We have 16 columns and 18 rows of students  in a playground and 
distance between the two students 1.5 metres . The length of the row 
of the students are ?
हमारे पास खेल के मैदान में 16 कॉलमऔर छात्र ों की 18 पोंक्तियााँ हैं और
दरनर ों छात्र ों के बीच 1.5 मीटर की दूरी है। छात्र ों की पोंक्ति की लोंबाई है? 

(A) 20.5     
(B) 22.5
(C) 22
(D) 25.5  



Which number will replace the question mark ?

(A) 93 (B) 93
(C) 101 (D) 84



Which of the following diagrams indicates the best relation between 
(Mammals, Human , Dog) / (स्तनधारी, मानव, कुत्ता)

A. B .C .D.



Which number will replace the question mark ?

(A) 11 (B) 9
(C) 12 (D) 10

19 23 13 11

72 18 64 14

16 32 49 ?



Find the missing one  (?)

0 , 1 , 28 , 153 , ? , 1225 , 2556

(A) 497    
(B) 441
(C) 484
(D) 496



Study the following arrangement carefully and answer the questions given 

below:

R D A K 5 B I 2 M J E N 9 7 U Z V 1 W 3 H 4 F Y 8 P 6 T G

Which of the following is the sixth to the right of the nineteenth from the 

right end ?
कौन सा तत्व दाये से 19वे के दाये छठा हर सकता है?

(1) 5

(2) Z

(3) V      

(4) 1      

(5) None of these



Arrange the words given below in a meaningful sequence.

1. Wall / दीवार
2. Clay / चचकनी चमट्टी
3. House / मकान
4. Room / कक्ष
5. Bricks / ईोंटें

A.5, 2, 1, 4, 3
B.2, 5, 4, 1, 3
C.2, 5, 1, 4, 3
D.1, 2, 3, 4, 5



Find the option which should replace (?)

If 62 * 73 * 63 = 51

54 * 49 * 27 =

(A) 60

(B) 62

(C) 66

(D) 70 



Find the option which should replace (?)
(A) 21

(B) 24 

(C) 35
(D) 37

8 27 17

4 6 6

14 51 31

11 ? 19



Find the option which should replace (?)

5*9*4=7

5*3*1=4

7*9*1= ?

(A) 5

(B) 6 

(C) 7
(D) 8  



Find the option which should replace (?)

12 @ 11 = 12

13 @ 16 = 18

32 @ 14 =

(A) 36

(B) 40

(C) 45
(D) 60



Select a suitable figure from the Answer Figures that would replace the question mark 
(?).

Problem Figures: Answer Figures:

(A) (B) (C) (D) (1) (2) (3) (4) (5)

A.1
B.2
C.3
D.4
E.5



Statement: For supervising the advertisements by different companies, 

should a censor board be created?

I. Yes, It is seen many times that a particular ad comes under a topic

of debate about showing of some scenes.

II. No, There is no need of censor boards for all purposes.

चवचिन्न कों पचनयर ों द्वारा चवज्ञापनर ोंकी चनगरानी के चलए, क्या एकसेंसर बरर्ड बनाया जाना

चाचहए ? 
I. हाों, यहकई बार देखा जाता है चक एक चवशेष चवज्ञापन चकसी चवषय के अोंतगडतआता है जर

कुछ दृश्रों के बारे में बहसकरता है।

II. नही ों, सिी उदे्दश्रों के चलए सेंसर बरर्ड की करईआवश्कता नही ों है।



Arrange the following words in meaningful order. 

1.Satisfied  / सोंतुष्ट

2. Inquiry / पूछताछ

3. Problem / समस्या

4. Solution / समाधान

5. Office / कायाडलय

(1) 32415

(2) 35124

(3) 35241

(4) 43521



Find the odd one out(?)

A. Uttar Pradesh / उत्तर प्रदेश

B. Mararashtra / महाराष्टर
C. Kerala / केरल

D. Gujarat / गुजरात



Q.. Statement :

Some actors are singers.

All the singers are dancers.

Conclusions : 

(I) Some actors are dancers. 

(II) No singer is actor.

EXAMPLE

प्र.. कथन :

कुछ अभिनेता गायक हैं।

सिी गायक नततक हैं।

भनष्कर्त:

(I) कुछ अभिनेता नततक हैं।

(II) कोई गायकअभिनेता नही ीं है।



Q.. Statement :

Some actors are singers.

All the singers are dancers.

Conclusions : 

(I) Some actors are dancers. 

(II) No singer is actor.

EXAMPLE



Q.. Statement :

Some Cats are Rats.

All bats are tables. 

All Rats are Bats.

Conclusions : 

(I) Some Cats are bats

(II) All tables are rats

EXAMPLE

प्र.. कथन :

कुछ भिल्लिया चूहे हैं।

सिी चमगादड़ टेिल हैं।

सिी चूहे ििे हैं।

भनष्कर्त:

(I) कुछ भिल्लियोीं चमगादड़ हैं

(II) सिी टेिल चूहे हैं



Q.. Statement :

Some Cats are Rats.

All bats are tables. 

All Rats are Bats.

Conclusions : 

(I) Some Cats are bats

(II) All tables are rats

EXAMPLE



Q.. Statement :

Some ships are boats.

All boats are submarines.

Some submarines are yatches.

Conclusions : 

(I) Some ships are yatches.

(II) Some submarines are ships.

EXAMPLE

प्र.. कथन :

कुछ जहाज नौकाएीं हैं।

सिी नाव पनडुब्बी हैं।

कुछ पनडुब्बी नौकाएीं हैं।

भनष्कर्त:

(I) कुछ जहाज नौका हैं।

(II) कुछ पनडुल्लब्बयाीं जहाज हैं।



Q.. Statement :

Some ships are boats.

All boats are submarines.

Some submarines are yatches.

Conclusions : 

(I) Some ships are yatches.

(II) Some submarines are ships.

EXAMPLE



(A) 45

(B) 48 

(C) 51 

(D) 54

5 9 15

16 29 ?

49 89 147


